

RAWALPINDI INSTITUTE OF CARDIOLOGY, RAWAL ROAD, RAWALPINDI, 051-9281111



TENDER NOTICE

Sealed bids for the following works, addressed to the Executive Director Rawalpindi Institute of Cardiology, Rawal Road Rawalpindi, are invited under PPRA rules, 2014 amended 2016. The bidder must not be black listed from anywhere, registered relevant Tax Departments of the Govt. of Pakistan and have valid license / registration for relevant work according to T.S estimate amount and the Contractors / Firms enlisted / renewed with C & W Department, PEC or Govt. / Semi Govt. Department for the current financial year. The offer required in percentage above / below from Rough Cost Estimated Amount.

S#	Description of Works	T.S Amount	Last date for Purchasing of Tender Documents	Last date for submission of Tender Documents	Tender Opening Date
1	Construction of MEP Workshop in Rawalpindi Institute of Cardiology, Rawalpindi	1.532 (Million)	Saturday 13-03-2021 02:00 PM	Monday 15-03-2021 11:00 AM	Monday 15-03-2021 11:30 AM
2	Construction of Pharmacy in Rawalpindi Institute of Cardiology, Rawalpindi	1.944 (Million)	Saturday 13-03-2021 02:00 PM	Monday 15-03-2021 11:00 AM	Monday 15-03-2021 11:30 AM
3	Construction of Servant Quarter in Rawalpindi Institute of Cardiology, Rawalpindi	2.201 (Million)	Saturday 13-03-2021 02:00 PM	Monday 15-03-2021 11:00 AM	Monday 15-03-2021 11:30 AM
4	Improvement & Renovation Construction of Boundary Wall Guest Room in Rawalpindi Institute of Cardiology, Rawalpindi	1.165 (Million)	Saturday 13-03-2021 02:00 PM	Monday 15-03-2021 11:00 AM	Monday 15-03-2021 11:30 AM

Bill of Quantity (BOQ) can be obtained immediately after publication of this advertisement from Purchase Office of the hospital, on a payment of **Rs: 1000/-** (non-refundable). Separate tenders must be purchased for each of the above mentioned category. After the tender notice published in newspaper a copy of BOQ is available on the websites of Punjab Procurement Regulatory Authority www.ppra.punjab.gov.pk & www.ric.gop.pk.

Bidder must submit Fresh CDR / Bank Guarantee @ 02% of the Rough Cost Estimated Amount / T.S Amount (refundable) in the name of Executive Director Rawalpindi Institute of Cardiology, Rawal Road Rawalpindi, with the Documents. No tender will be accepted without Bid Security & such tender(s) will be rejected at the spot. The telegraphically or by postal tenders will not be entertained

- Rates will be inclusive of all taxes where applicable.
- PST applicable as per rules.
- RIC is exempt from GST.

Dr. Muhammad SuhailMedical Superintendent
Rawalpindi Institute of Cardiology
Rawalpindi

ROUGH COST ESTIMATE FOR CONSTRUCTION OF MEP WORKSHOP PINDI INSTITUTE OF CARDIOLOGY RAWALPINDI

ABSRACT OF COST

1	DESCRIPTION	QTY	RATE	UNIT	AMOUNT
1	EXCAVATION IN FOUNDATION OF BUILDING	1704 CFT	@7687.15/1000CFT	/CFT	13098
2	CEMENT CONCRETE BRICK OR STONE BLASTED 1:4:8	168 CFT	@14010.60/%CFT	/CFT	23537
3	REINFORCED CEMENT CONCRETE 1:2:4	121 CFT	@367.35/ CFT	/CFT	44449
4	FABRICATION OF MILD STEEL REINFORCEMENT BAR	371KG	@ 15833.80/100KG	/KG	58743
5	PACCA BRICK WORK IN FOUNDATION AND PLINTH IN CEMENT SAND MORTAR 1:4	418.48 CFT	@22717.10/%CFT	/CFT	95066
6	PROVIDING AND LAYING DAMP PROOF COURSE OF CEMENT CONCRETE 1:2: 4	26.9775 SFT	@5526.50/100SFT	/SFT	1490
7	PROVIDING AND LAYING VERTICAL DAMP PROOF COURSE WITH CEMENT SAND PLASTER AND BITUMEN COATING	872 SFT	@3651.75/100SFT	/SFT	31843
8	PACCA BRICK WORK IN GROUND FLOOR CEMENT, SAND MORTAR 1:4	725.0625 CFT	@24274.15/100CFT		176002
9	REINFORCED CEMENT CONCRETE IN ROOF SLAB, BEAMS, COLUMNS LINTELS 1:2:4	429.675CFT	@367.35/CFT	/CFT	157841
10	REINFORCED CEMENT CONCRETE IN BEAMS, COLUMNS	59.0625 CFT	@394.15/CFT	/CFT	23279
11	FABRICATION OF MILD STEEL REINFORCEMENT BAR	1497.73KG	@ 17191.85/100KG	4,300	-
12	CEMENT PLASTER 1:4 UPTO 20' (6.00 M) HEIGHT ¼" (20 MM) THICK	2333 SFT	@2800.25/100SFT		25748
	CEMENT PLASTER 3/8" (10 MM) THICK UNDER SOFFIT OF R.C.C. ROOF SLABS ONLY, UPTO 20' HEIGHT. 1:4	710.25SFT			65329
14	PROVIDING, LAYING, WATERING AND RAMMING BRICK BALLAST 1½" TO 2"(40 MM TO 50 MM) GALIGE MIXED WITE 1/2"	279.125	@2402.45/100SFT		1706
	FOR FLOOR FOUNDATION,	CFT	@5614.30/100CFT	/CFT	1567

	MENT CONCRETE PLAIN INCLUDING LACING, COMPACTING, FINISHING AND CURING	279.125 CFT	@17500.95/100CFT	/CFT	48849
A	MOSAIC FLOORING,1½"(40 MM) THICK	279.125 SFT	558.25 SFT @11921.05/100SFT	/SFT	66549
17	MARBLE STRIP OF ANY SHADE FOR DIVIDING THE MOSAIC FLOORING	434 RFT	@7.90 RFT	/RFT	3428
18	MOSAIC DADO OR SKIRTING WITH ONE PART OF CEMENT AND MARBLE POWDER IN THE RATIO OF 3:1	96 SFT	@13,028.75/100SF T	/SFT	12507
19	M.S. SHEET HOLLOW PRESSED FRAME OF DOORS	70 SFT	@201.65/SFT	/SFT	14115
20	PROVIDING AND FIXING 1½" (40MM) THICK SOLID FLUSH DOOR	62.91 SFT	@ 386.15/SFT	/SFT	24292
21	PROVIDING AND FIXING ALL TYPES OF GLAZED ALUMINIUM WINDOWS OF ANODIZED CHAMPAGNE COLOUR	72 SFT	@778.90/SFT	/SFT	56080
22	CEMENT CONCRETE PLAIN INCLUDING PLACING, COMPACTING, FINISHING AND CURING COMPLETE	122.76 CFT	@21868.95/%CFT	/CFT	26846
23	SUPPLY AND ERECTION OF PVC PIPE FOR WIRING RECESSED IN WALLS,	200 RFT	@ 43.00/RFT	/RFT	8600
24	SUPPLY AND ERECTION OF M.S. SHEET BOX	8 NOS	@ 310.55/EACH	/EACH	2484
25	SUPPLY AND ERECTION OF 3/8" (10 MM) DIA M.S. BAR FAN HOOK	08 NOS	@ 43.90/EACH	/EACH	351
26	PACCA BRICK WORK IN FIRST FLOOR CEMENT, SAND MORTAR RATIO 1:4	181 CFT	@25693/%CFT	/CFT	46504
27	CEMENT PLASTER 1:4 UPTO 20' (6.00 M) HEIGHT 3/4" (20 MM) THICK	456 SFT	608 SFT @2800.25/%SFT	/SFT	17025
28	CAST IRON RAIN WATER DOWNPIPE FIXED IN POSITION, EXCLUDING HEADS AND SHOES,	36RFT	@231.45/RFT	/RFT	8332
29	RAIN WATER DOWN PIPE CAST IRON HEAD FIXED IN PLACE, INCLUDING COST OF CLAMP HOLDFAST AND PAINTING	3 NOS	@585.70/EACH	/EACH	1757

AOES, BENDS OR OFFSETS FOR CAST IRON KAIN WATER DOWN PIPE,	3 NOS	@339.65/EACH	/EACH	1018	
KHURAS ON ROOF 2'X2'X6" (600 X 600 X 150 MM	3 NOS	@547.30/EACH	/EACH	1641	
	GROSS AMOUNT ADD 16% PST NET AMOUNT SAY			1321275	
				211404	
				1532679	
				1532600	

MUHAMMAD HANZALA FAROOQ HOD BIOMEDICAL /IT RIC RWP

Dr. Javaria Abdullah Malik Additional Medical Superintendent Planning & development/ER A RIC Rawalpindi

NO & DATE EVEN:

COPY FOR THE INFORMATION PLEASE:-

- 1. THE EXECUTIVE DIRECTOR, RAWALPINDI INSTITUTE OF CARDIOLOGY, RAWALPINDI.
- 2. THE MEDICAL SUPERINTENDENT, RAWALPINDI INSTITUTE OF CARDIOLOGY, RAWALPINDI

Sub Divisional Officer, Buildings Sub Division No.1 Rawalpindi Dr. Javaria Abdullah Malik Additional Medical Superintendent Planning & development/ER RIC Rawalpindi